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QUESTION 1

You are implementing a new data center and need to plan to connect it to your existing data center. You have the
requirement for active/active forwarding to enable load balancing and reduce failure times. 

Which two technologies should be evaluated for this design? (Choose two.) 

A. point-to-point links 

B. Layer 2 VPN 

C. VPLS 

D. EVPN 

Correct Answer: CD 

 

QUESTION 2

Within a customer\\'s data center, one departmental server is transmitting all of its network traffic marked with an IP
precedence value of 6. The ingress switch must change this precedence before forwarding it to the rest of the network. 

Which CoS feature would be used to accomplish this task? 

A. multifield classification 

B. rewrite rules 

C. class-based forwarding 

D. behavior aggregate classification 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. The vSRX is performing microsegmentation. 

B. The vSRX is working in routed mode. 

C. The vSRX is not performing microsegmentation. 

D. The vSRX is working in transparent mode. 

Correct Answer: AD 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. You should use CoS rewrite rules for traffic coming into the leaf devices. 

B. You should use CoS rewrite rules for traffic leaving the leaf devices. 

C. You should use CoS rewrite rules for traffic leaving the spine devices. 

D. You should use CoS rewrite rules for traffic coming into the spine devices. 

Correct Answer: BC 

 

QUESTION 5

Which protocol is used to exchange control information between the participating multichassis LAG (MCLAG) peers? 

A. BGP 

B. OSPF 

C. ICCP 

D. VCCP 

Correct Answer: C 
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